

## Maharashtra State Electricity Transmission Co. Ltd (CIN: U40109MH2005SGC153646)

From
Name of Office: Executive Engineer, 400KV R.S. (O&M) D/n,
MSETCL, Jejuri
Office Address: A/P Jejuri Tal.Purandar,Dist.Pune.
E mail ID: ee6160 @mahatransco.in;

To
Website Publication

Ref. No.EE/400 KV/JEJURI/Tech/2018-19/56

## **ENQUIRY**

DATE:28.02.2019

**Sub:** Enquiry for work of Double jump arrangement for loading 400/220,501 MVA,ICT- 3 at 400kV Jejuri. **Dear Sir,** 

You are requested to submit your offer in sealed quotation for work of Double jump arrangement for loading 400/220,501 MVA,ICT- 3 at 400kV Jejuri as per schedule 'A' so as to reach this office on or before Dt.07.03.2019 upto 15.00Hrs considering following terms and conditions.

## **TERMS AND CONDITIONS:**

- 1. The prescribed form i.e. Schedule 'A' duly filled in with the rates written in words and figures and signed should be sent by registered post or in person to <u>The Executive Engineer, 400KV R.S. (O&M) Divn. Jejuri, A/P Jejuri Tal.Purandar, Dist. Pune.</u>
- **2.** Please super scribe the offer with the following details :
  - a. Quotation for :-
  - b. Due Date:-
  - c. Name of the Bidder:-
- 3. The offer shall be valid for acceptance for a period of 90 days (Ninety days) from the date of submission. During this period no bidder shall be allowed to withdraw his offer.
- 4. All the documents of this Enquiry, Schedule "A" and other accompanying documents shall bear the authorized signature of the bidder, failing which the offer will be liable for rejection.
- 5. The bidder should quote rate including GST in %(Percentage) basis of estimate rate only.
- 6. The successful Bidder shall pay 5% of the contract value towards security deposit within 07 days from date of issue of work order.
- 7. The certified true copy of below mentioned documents should be attached along with quotation . a)Pan Card
  - b) Valid copy of Shop Act License/NOC of Gram panchayat.
  - c)GST Registration No( if applicable)
  - d) Valid Contractor Electrical license.
  - e) The contractor should have minimum 2 years experience in r/o EHV substation /Maintenance/Equipment Erection/Jumper replacement . Certificate of performance of similar work in Govt.department, public sector not below the rank of Executive Engineer in any other power sector utility.
- 8. The bidder is in his own interest expected to visit the site and acquaint himself with the site conditions all other conditions which will affect the work.

- **9.** The documents of an offer shall be written legibly and free from erasures, overwriting or conversion of figures corrections where unavoidable shall be made by crossing out, rewriting, initialing and dating.
- **10.** Quotations which do not fulfill all or any of the above conditions or are incompletion in any respect are liable to be rejected.
- 11. If the bidder has any doubt the meaning of any portion of the enquiry conditions/specifications he should get it clarified from the office of the undersigned before submission of the offer.
- **12.** All general/Technical/Commercial terms and conditions of the contract of the Company are applicable to this contract.
- 13. The right to reject all or any of the quotation with assigning reason, whatsoever for the rejection of any quotation or all the quotations or to place an order for full quantity or part thereof or to finalize the order on time preferred basis or to split the order quantity wise is reserved with the undersigned.
- 14. The successful Bidder should have execute the agreement on Rs.500/- in bond paper within 07 days from date of issue of work order & cost of agreement to be borne by your account.

Thanking you,

Yours faithfully,

Sd/-

S.C.Pardeshi
Executive Engineer
400KV RS(O&M)Division
MSETCL, Jejuri

**Enclose: Schedule'A'** 

Copv.s.w.r.to:

- 1) The Superintending Engineer, EHV O & M Circle Pune Copy to:-
- 1)The Add.EE(M),400KV RS Jeiuri
- 2)Dy.Manager(F&A),400KV RS Div.Jejuri.
- 3) Notice Board.

## 

Description of Work: Enquiry for Double jump arrangement for loading 400/220,501 MVA,ICT- 3 at 400kV Jejuri.

Sr. No	Particulars	SAP Code	Qty	Unit	Unit price in Rs.	Total Amount (Rs.)
	Material					
1	Single tension hardware with turnbuckle suitable for twin conductor (STT-T 350)	500006142	6.00	Nos	10979.00	65874.00
2	Single suspension hardware with drop clamp suitable for twin conductor (SSDT/SSST 350)	500000087	6.00	Nos	3779.00	22674.00
3	Bus post clamp suitable for twin Morculla conductor (BPT) for BPI.	500018048	2.00	Nos	1547.00	3094.00
4	Palm type TC for breaker suitable for single Morculla conductor. (9 H)	500019471	6.00	Nos	864.00	5184.00
5	U' type connecting plates for connection to palm type terminals for twin Morculla conductor for Isolator	500000100	3.00	Nos	1840.00	5520.00
6	U' type connecting plates for connection to palm type terminals for twin Morculla conductor for Isolator	500000100	12.00	Nos	1871.00	22452.00
7	Sapacer for Twin Morculla	500021826	30.00	Nos	424.00	12720.00
	Service					
8	Dismantling of Conductor jumpers 220 kV Single Condcutor	50001999	18.00	Nos	377.00	6786.00
9	Stringing of TWIN Conductor Span with all allied works of Hardware, Insulator etc.	50009522	60.00	Rmt/ Ph	126.00	7560.00
10	Replacement of jumpers from Main Bus to Isolator for Twin	50008747	6.00	Nos	1119.00	6714.00
11	Replacement of jumpers from Stub Bus to Iso / CB For Twin	50001746	6.00	Nos	1244.00	7464.00
12	Replacement of Jumper between Isolators for Twin	50002016	3.00	Nos	1016.00	3048.00
13	Fixing of Spacers on Stub Bus Twin	50015831	22.00	Nos	796.00	17512.00

14	Fixing of Spacers on Main Bus Twin	50015832	8.00	Nos	597.00	4776.00
15	Crimping works for main bus jumpers T Clamp For Quad	50015863	6.00	Nos	1493.00	8958.00
16	Crimping Works for jumper cone on ground 220 kV	50015865	6.00	Nos	398.00	2388.00
Sub Total						202724
18% GST on Sr.No. 1 to 16						36490
1% Labour Cess						2392
Total estimated cost					241606	

The total estimated cost is Rs.241606/- inclusive GST. Inwards Rs. Two Lakh Forty One Thousand Six Hundred & Six only Inclusive GST.

The Bidder should Quote	% Above / At Par /	% Below of these estimated cost.
-------------------------	--------------------	----------------------------------

Sd/-S.C.Pardeshi Executive Engineer 400KV RS Div.Jejuri